
On p. 329, principle (iii) should read:

(iii) U [is/was] true at t2 iff either: 
(a) U was present-tensed and E and t2 are real-as-of each other; 

or 
(b) U was past-tensed and, for some t earlier than t2, E and t are 

real-as-of each other. 

So that the three incompatible principles are:

(ii) U [is/was] true at t2 iff U was true at t1. 
(iii) U [is/was] true at t2 iff either: 

(a) U was present-tensed and E and t2 are real-as-of each other; 
or 

(b) U was past-tensed and, for some t earlier than t2, E and t are 
real-as-of each other. 

(iv) U [is/was] truth-valueless at t2.


